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| Semester B.Com. Degree Examination, April/May 2023
(CBCS - Old Scheme) (Repeaters)
COMMERCE
Paper — 1.6 (B) : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely in English or

Kannada.

SECTION - A
NN — D

I. Answer any 5 sub-questions, each sub-question carries 2 marks. (5%x2=10)

CIRPYTREUR 5 YUT-T,J N U0, T, S03L008R, 2 SOFNTL.

1) a) 2,6, 18,....ina GP, find the 6" term.
2,6,18,.... MERET 3,eedcd 63¢ m;%ma:q FOBILBOWD.

b) What is a Diagonal Matrix ?
TEDF TN, T DOTTERD ?

c) What are Natural numbers ?

TB® D083, nLomTed ?

d) What is Arithmetic Progression ?

ARBI0ST 3,068 D0TTED 2
e) If X:3=50:2, find the value of ‘X.
X:3=50:2 =68 X'S 13 50@0BOWD.
f) How much simple interest will be earned on ¥ 2,000 @ 9% in 3 yrs. ?

¥ 2,000 & heed 9%T o WRODOE 3 TRV, aa’% LECLT) NPT ?

P.T.O.
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SECTION - B
RPN —W
Il. Answer any 3 questions. Each question carries 6 marks. (3x6=18)
ORI TRTTR TAT BIACT V308, B8 %311 6 Loz,
2) If 3“ and 7" terms of an AP are 15 and 39 respectively, find AP.

2.0 TTIw0BT 3, ee30 WRTHe B FEe 03, M B,53050N 15 3020 39 &3
 TFT0TT I, ec3000T) BoBOREOWO.

™o "% 4 2 3
3) fA=|7 8 9 B=|0%1 .2
0:-1 -2 34 5
Find a) A+B b) A-B.
1 & @ 4 2 3
A=|7 8 9 B=i0 .1 2} ef:dsaa'm;gns;:% FOTLROWD.
o1 2 3 45
a) A+B b) A-B
4) Find the Banker’s Discount and Banker's gain on ¥ 3,000 for 73 days /@-
@ 5% p.a. ™
de. 3,000 nert-73 QSen S8 5 TURY, T8 [RFF, 13, 030 oY Fo _ $ KGFi
w3, 08T f@e@oﬁaﬁiﬁec&:&@m& A

&
5) 16 men and 28 worren can do a work in 40 days. In how many days will \
24 men and 14,wonrten complete the same work ?

2,000 R 40 OFTY, 16 w3 remxcd TR 28 BT FOMRTD FREAFRRTBWLTO
@003 Foed 24w MoBAT ) 14 w8 Borcd e o[ oF ATEE
TREFNRYIOTVT ?
6) Solve by Cramer’s Rule.
6X + 5y =2
4x — 3y = 14
T, 300 LONTIT )58 VAR
BXx + b5y =2
4x — 3y = 14
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SECTION -C
QTN —
Ill. Answer any 3 questions. Each question carries 14 marks. (3x14=42)

CIRR)TIITTR WART B3NN evZoR. T3 J, 311 14 ©o3ned.

7) a) The sum of 3 numbers in AP is 9 and their product is 15. Find them.
%WOTL FTI0ST 3 ee30 3 B o&:?;rﬁe;f B2 9 R PN ﬁ:s'am%ﬁ ST €5
Nos%mf@% ﬁomao&%omb.

b) The sum of 3 numbers in GP is — 21 and their product is 125. Find
them.

2000 TOTRREBT J,ee3e0d WwaTO oSS 3,N¢ W8 — 21 - &TT Moo 2125
ST0 &8 ?doaq r’i%ﬂ‘“ FOROLBAWD.
8) a) Solve by formula method.
22 -7x+3=0.
ARE, T ITIODDOT J0EFTED WRR
2x2-7x+3=0.
b) The monthly income of A and B is in the ratio of 4 : 3 and their expenditure

is in the ratio of 3 : 2. If both of them saves Rs. 6,000 at the end of each
month, find their respective monthly income.

A 5333 B 2020038 S1»3% Soo) 4 1 3 4TI aﬁd D 3: 2
513'?333@633;; =0 Qua T8 &on¢ 3= dr. 6,000 m@@mw RTT,
50T WIVT ejmodadmo 2

9) a) On a bill of Rs. 10,900 due in9 months at 5% p.a. find
a) present value
b) True discount
c) Banker's discount
d) Banker's gamr

%8 ﬁwré o3 5% u&zcdaoé 9 Songbngd) wod vTox= dr. 10,9003 38
=t 97? ﬁum&:&am@

O

) @A‘o:ﬁ DR,

) O AR

) D) 0FTT AR
d) 3,080 Yot BoTEREOWD.

b) Solve 2x — 3y = 19 and 3x — 2y = 9 by elimination method.
2x — 3y =19 30 3x — 2y = 9 FFooT aﬁm;éccbow WER.

o 2



